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35.2 LSD Radix Sort
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22 Lauren 41 Glaser 12 Lee
34 Delbert 41 | Sandra 12 Bearman
41 Glaser 31 = Dave .. 13 Edith
13 Edith 32 Swimp  ~_ .. 22 Lauren
23 JS 22 | Lauren e 28 JS
41 Sandra 12 Lee SN 3 Dave

. — Al :
32  Swimp 12 | Bearman 32 Swimp
34 James 42 Lisa v 34 James
12 Lee 23 JS e 34 Delbert
31 Dave 13 Edith RV L Glaser
12 = Bearman 34 James -7 41 Sandra
42 Lisa 34 Delbert -~ 42 Lisa

Least Significant Digit Radix Sort -- Using Count Sort

Notice in the above picture that we had a completely random input of numbers 22, 34, 41,
etc. Then in the second box, we had sorted by right most digit, so 41, 41, 31 would come
first as 1is the lowest rightmost digit. Next would come 32, 22, 12, as 2 is the second least
rightmost digit. Notice that we still have to take care of sorting 32, 22, and 12 which is why
we move to the second right most digit in our last box which has everything sorted.

What is the runtime of LSD sort?

©(WN + WR)
IN: Number of items, R: size of alphabet, W: Width of each item in # digits



When keys are of different lengths, can treat empty spaces as less than all other

characters.
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